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i)

GEOGRAPHY
T 3 % qUe

Ul : 56
qdtenforat &% T G A9 ¢

GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. Tt 9eudH {99 999 U9 ) qHieh 3 qadd: o |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. |H U HEAT AT

All the questions are compulsory.

3. T YT I IR & T8 WG 8 G |

Write the answer to each question in the given answer-book only.

4, 9 U H I T GUE ¢, 39 G % IR Teh I B o |

For questions having more than one part, the answers to those

parts are to be written together in continuity.
5. U9 A % &Rt 9 ST ®URR B HdAl YPR B I / 3R/ aXETIH
TH W T WIS o U R el W |
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If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. @S Uy | 3® UA® YT IAY i 9 |ET
A 1-13 1 20 K
q 14-22 2 60 VK
q 25-27 3 100 I
3 28-30 4 250 ¥
Section Q. Nos. Marks per Word limit
question of answer
A 1-13 1 20 words
B 14-22 2 60 words
C 25-27 3 100 words
D 28-30 4 250 words

7. U9 I 23 AN 24 HHE T S G GG YT ¢ AN TAH 2 3k H §

Question Nos. 23 and 24 are related to map-work carrying

2 marks each.

8. T¥G I YRA % 3T FIT T TGN HH T i 3T YRAFT & A1 A
gl
Attach outline map of World and India with the answer-book.

9. U HHIH 29 3R 30 H FAIH THeA & |

There are internal choices in Question Nos. 29 and 30.

g - A

Section - A

1. UNA STl o UGN ¥ §H arelt el &Y SET Il o A o @ |

Write the names of any two diseases caused due to use of

contaminated water. é+% =1
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10.

FET &t 1Y TG F A AGC

Write the names of any two air pollutants.

& YT § AT 6 AN HE G B E 2
Which source contributes maximum to noise pollution ? 1
3T T TAN 3R TF T ht T 237 A HA o o e arelt 3=
H HY IEFA T 3 TAH HAT AT & 2

Which term is used to express the interaction between primitive

human society and strong forces of nature ? 1
Y 2001 I STUET F FTIR IR H Tl 9k 9 FAqH FERAT T A et
T & AW A @Y

Write the names of the states recorded maximum and minimum

11

+ = =1
2

percentages of literacy in India according to Census 2001.

I3 g6 T STAHGIN TERUIE T H JHHT H 3 A al A W W
I AT TAS T 2

What will be the effect on ozone layer if the developed economies
become eco-friendly ? 1

YA 3 ST § 37 i ST |

1 1
Distinguish between immigration and emigration. > + > =1

AT Y R &THAT T Seck S & IS Uh T &1 T |

Give any one suggestion for the betterment of work efficiency in people.
1

TEIA AT UITF 3T FF &G 3T a9d & h YT HT 9T Hl ?

Which region of the world would you select for Extensive Commercial

Grain cultivation ? 1

TSR STt H UZIOH H SUGSHAl & YR W g 9d & arel TR

ThTATHe TR & TR T HY TR H AR &AM 2

According to functional classification of towns, what type of town will

be developed on availability of petroleum in Barmer district ? 1
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11.

12.

13.

14.

15.

16.

17.

18.

4

THS T 9 W 7 GEHS ATl FUST 9H & o 3T Hd YhR 1 g HMH §
& 2

Which type of fibre will you use for manufacturing durable and
shrinkage resistant fabrics ? 1

STHAT % W BT &F H e T®h GHI &l T € WYl SRl wile-serd
I HEA &1 T 2

Iron ore in Ruhr Coalfields of Germany has been exhausted, even after
that iron and steel industry is functioning there. Why ? 1

IR % U & H U[ell & Ao UIN0T &q HIE T ST G |
Suggest any one measure for cattle fodder to sustain in backward
areas of India. 1
g -
Section - B

TR W T WA & ? T 0T YHR Sl T & & 910 TG

What is meant by transport ? Mention different types of transport

distance. 1 + 1l =2
2 2

o SRAAT St T & A AT heel TR Hehl hT S0 i ST |

Describe any four factors affecting the rural settlements.
1,1.1
2 2 2

e T FAE &F H e fGuE ¥ FY oY Fewen H O HiE Wr

FHNIcHS G Tadd o @U |

+ =2

N |+~

Write any four positive changes that took place in agricultural economy

through intensive irrigation in Indira Gandhi Canal Command Area.

1 1 1 1
—+ -+ +==2
2 2 2 2

Y H SHUEAT IAq0T Sl T I i ot el &1 I HRbT hl GHSE |

Explain any two economic factors affecting the distribution of
population in the world. 1+1=2

YR H &I ST T e oo & IS &1 3UF gy |

Suggest any two measures for the growth of river water route transport
in India. 1+1=2
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19. T AET AT KT 1 TFIT I ST 94T g4 T T & IR W ¢

®.9. | Td 100 I FHH &

¥ oy W A e
1 I 105
2 It 327
3 el 164
4 Wiﬁa‘@:{ 162
5 | dg® ST o T 67
6 o 68
7 P GEa 151

i) HF-TT 3T Fal € TS T ool € 2
i) HF-TT 97 AT G T a1l & 2
iii) TR % TR TS TEAT T H YRA Hl HA-T1 IH & ?
iv) AT & IR Geh qEAdl FH H G T HA-T7 H & 2

Study the following table and answer the questions given below :

Sl. Country Length of roads for
No. every 100 km? area
1 India 105
2 Japan 327
3 France 164
4 U.K. 162
S U.S.A. 67
6 Spain 68
7 Sri Lanka 151
i) Which country bears maximum density of roads ?
ii) Which country bears minimum density of roads ?
iii) Which place does India bear in density of roads according to the
table ?
iv) Which place does France bear in density of roads according to
the table ? Lelililog

2 2 2 2
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20.

21.

22.

23.

24.

25.

6
TR I H & | U ST FTell hig gF T 5o Wi dh TN Tar
3 HRI A G |
Write any two socio-cultural problems found in the towns of developing
1 1 1 1

countries and also write their causes. > + > + ) + > =2

T ST UL i TERIHAT & his AR HRO o G|
Write any four reasons for the necessity of rain water harvesting.

l+l+l+l=2

2 2 2 2
IRA % Y I i 3T ‘37 JAM=eh! T 3T IHEHR I © 2 T9 LoTH N
I GO o Yol st G TG
Which railway of India do you consider as ‘engineering marvel’. Write

the number of tunnels and bridges constructed on this rail route.

1+1+1-9
2

2
Y9 % T T WG qH O B T gaTE U9 bl 3 R bl T
i) = (i) AR (i) ool (iv) HeATl

In the given outline map of the World mark the following airports :

(i) London (i) New York (iii) Delhi (iv) Sydney.

4 x 1 2

2

9RA % TF T @ AT § A o G A ScAeh shsl ol S9IEd
i) Hder (i) STeERE (iii) STAR (iv) ESTRIETTI
Locate the following copper producing centres in the given outline map
of India :
(i) Khetri (i) Balaghat (iii) Udaipur (iv) Hazaribagh

4><l=2
2

Qe - |
Section - C
TR ST 9 941 AW & 2 SHG9R dF & 8l &1 Gl &7 9U hi S0 |

What is meant by communication network ? Describe any two means

of mass communication system. 1+1+1=3
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26.

27.

28.

29.

30.

7
IRA | G YA % el o T I0TH S qHER |
Explain any three results of migration of population in India.
1+1+1=3

O | UTHIOT SFETTT o el i Th sl o=l ol 9T |

Explain any three types of rural settlements In India. 1+1+1=3
gug - §
Section - D
T IR[EROT TS S UTSd GRIUTe i T A= $eehi o 3F=A7id i ST
Q) = (i) EE % HEH
(i) O 99 (iv) & / 9se

Compare nomadic herding and commercial livestock rearing under the

following heads :

(i) Obejectives (i)  Grasslands
(iii)  Animals reared (iv) Area /region. 1+1+1+1=4
U I HE-H G T ITTH FIIAT § 2 9 ML HREFHATT o SMER TR
T AT TR S T BT U

CIEEI

ARG AN N € 7 FRALE AMR & gl diF R 1 o
HI T

Which facilities does a port provide ? Describe any three types of ports

on the basis of specialised functions. 1+3=4
OR

What is international trade ? Describe any three bases of international

trade. 1+3=4

IRA § F Tl Hel NS ATl AT i 514 |
AT

IR & Tl AR STRERET o1l Tl i AT &l T |

Explain any eight problems of agriculture in India. 8 x % = 4
OR

Explain any four non-conventional resources of energy in India.
1+1+1+1=4
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